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Identify problems with each of the following slides.
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Initial comparison of the bands of custodial sentence lengths.
reveal no change in severityfrom the pre- to post-rots
period. As shown in Figure 1, the proportion of sentences
Ionger than three years went down in the post-iots period,
however, 5o did sentences shorter than six months, with only.
‘the bands encompassing more than six months to three
Years going up. Hence, it i diffcult to identify 2 net effect
attributable to the riots
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Graph o0 smallto read.
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This information s not
necessary on a side. Figure 1
Should be on the side and the
speaker should give this
information orally.
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